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Warmup:

Solve each equation.

7 4 Iug:( 3n-5)=10 3log (2x - 8) =12
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Expand each logarithm.
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Expand each logarithm.
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Condense each logarithm.

lo 11 loga3
g4 + ga

3. loga7 + > 4. 25logsa — Slogsb
25
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og w=x 4=l

Evaluate each expression.

C|08216)+605536) = é logs243 + logs125

54+ 2 S + %




D7 Change of Base and natural Log_4th.gwb - 5/16 - Wed Mar 21 2018 10:16:33

How could we approximateé)g?:)g

We can convert this to an exponential
. .
equation \0% A __\03))

How can we solve this for x?
\03 ot = \oj 2

X-IOj‘S = |0j?>

X = loq 2
d = .63
log 5 -




€15 TrY 10 4Crive 3 formuld bY 40ing The Same
ThinNg With log,m =X.

log, = %

A

b = ™
ij( b)) \Oj ™M
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The change of base formula is...
logm

log,m = logh

NOW WE Can uSE our CalCulator To apProXimatt!




Example= Approximate.

1. logr 56 =* 2. logs0.4
_ log .4
’{)E SL:; ~ ‘x ﬁ&,@ég X- IUS 6
\n% - A .0b9 %3 _ 519
3. logy 378 4. logz 100
loq 37§ log 100
3 — .70 | = [.64Y

'Df] i lnjc?\
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log:z8+logz/7 8. log7100-1o0g25
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The Natural Log I

The Natural Log is a log #=x
€ _ gGI"IThm. In H =y

We can write it as o= 4
follows: loge(x)=y or In(x)=y

This means: or, what power do we raise
e to so that we get x
e’ =Xx 7
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"e" is a number. Find the "e" button on your
calculators now.

e e = NG ---

e 2 AT
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Base e logarithms, or Natural Logs, are still
logarithms, so all of the properties we use for

e m—
logs apply for In's. —
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RECALL NEY BROF@

Common Logs are in base  Natural Logs are in base

| O e
e~ JA.71%
Gogee): | p— ne= |\
|an
|nje

Example: Evaluate.

1. €82 3960,9602. 2e4¢Bg» 3. 1IN 352355, 4. In (-1.4)
(DQ-HL'} *)D

S olot MY
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Example. Solve using natural logs.

3. 33x=74

,r\ ?)?)X ~ ‘f\7)'}!

)‘\-14133 - a0y
X = )n-?'*’

—_
~

In 33

2
4. 43° = 0.5

< x ;\J'}!I_L‘] S
Jn Y
2
z *= S
2 =z
= 3
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5. 15x=24 6. 0.252x = 4]
In 257 = 1,4l

Dy In 225 =Y

- X = )ﬂZL{ }/] 2S5
115 Ay -2:67"
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Assignment
Ghange of hase, Natural log, and e WS




